

الف) $t_n = 3n^2 - 1 \rightsquigarrow t_1 = 3(1)^2 - 1 = 2, t_2 = 3(2)^2 - 1 = 11, t_3 = 3(3)^2 - 1 = 24, t_4 = 3(4)^2 - 1 = 47, t_5 = 3(5)^2 - 1 = 74$
 $2, 11, 24, 47, 74$

ب) $t_n = \frac{2n+1}{n+4} \rightsquigarrow t_1 = \frac{2(1)+1}{1+4} = \frac{3}{5}, t_2 = \frac{2(2)+1}{2+4} = \frac{5}{4}, t_3 = \frac{2(3)+1}{3+4} = 1, t_4 = \frac{2(4)+1}{4+4} = \frac{9}{8}, t_5 = \frac{2(5)+1}{5+4} = \frac{11}{9}$
 $\frac{3}{5}, \frac{5}{4}, 1, \frac{9}{8}, \frac{11}{9}$

الف) $t_n = \frac{(-1)^n}{\sqrt{n+3}} \rightsquigarrow t_{100} = \frac{(-1)^{100}}{\sqrt{103}} = \frac{1}{\sqrt{103}}$ ب) $t_n = 2n - \left\lfloor \frac{n}{2} \right\rfloor \rightsquigarrow t_{100} = 2(100) - \left\lfloor \frac{100}{2} \right\rfloor = 200 - 50 = 150$

الف) $t_n = 2n - 10 \rightsquigarrow 2n - 10 < 0 \rightsquigarrow n < 5$: جمله اول

ب) $t_n = n^2 - 17n + 10 \rightsquigarrow (n-4)(n-10) < 0 \rightsquigarrow$ ۴ جملات ۵ تا ۹

الف) $t_n = 2n - 14 \rightsquigarrow 2n - 14 < 0 \rightsquigarrow n < 7$: جمله اول

ب) $t_n = n^2 - 14n + 27 \rightsquigarrow (n-3)(n-9) < 0 \rightsquigarrow$ ۷ جمله ۳ تا ۹

$t_4 = t_5 + 5d \rightsquigarrow 22 = 7 + 5d \Rightarrow d = 3 \rightsquigarrow t_3 = t_4 - d = 7 - 3 = 4$

الف) $t_n = n^2 - 4n + 2 \rightsquigarrow \text{ext} = \left| \begin{array}{c} -\frac{b}{2a} \\ -\frac{\Delta}{4a} \end{array} \right| \rightsquigarrow \left| \begin{array}{c} -\frac{4}{2} \\ -\frac{4-16}{4} \end{array} \right| \rightsquigarrow \left| \begin{array}{c} -2 \\ 3 \end{array} \right| \rightsquigarrow \begin{array}{l} a > 0 \\ \text{min} \end{array} \Rightarrow$ کمترین جمله (-2)

ب) $t_n = n^2 + 6n + 1 \rightsquigarrow \text{ext} = \left| \begin{array}{c} -\frac{b}{2a} \\ -\frac{\Delta}{4a} \end{array} \right| \rightsquigarrow \left| \begin{array}{c} -\frac{6}{2} \\ -\frac{36-4}{4} \end{array} \right| \rightsquigarrow \left| \begin{array}{c} -3 \\ -10 \end{array} \right| \rightsquigarrow \begin{array}{l} a > 0 \\ \text{min} \end{array} \Rightarrow$ کمترین جمله (-3)

۱) $-4, -7, -1, -4, -7, -1, -4, -7, \dots$
 $(n=0) \rightsquigarrow$ $-4, -7, -1, -4, -7, -1, -4, -7, \dots$
 $\rightsquigarrow a = -4 \rightsquigarrow a = -4, t_0 = 1 \rightsquigarrow c = 1 \xrightarrow{\text{جایگذاری}} t_1 = n^2 + bn + 1 = 1 + b + 1 = -4 \rightsquigarrow b = (-6)$
 $(n^2 - 4n + 1) \rightsquigarrow t_{100} = 10000 - 400 + 1 = 9601$

۷) $-7, -4, -1, 2, 5, \dots$
 $(n=0) \rightsquigarrow$ $-7, -4, -1, 2, 5, \dots$
 $\rightsquigarrow a = 3 \rightsquigarrow a = 3, t_0 = -7 \rightsquigarrow c = (-7) \xrightarrow{\text{جایگذاری}} t_1 = 2n^2 + bn - 7 = 2 + b - 7 = -4 \rightsquigarrow b = (-1)$
 $(2n^2 - n - 7)$

$(-\infty, a+4) \cap (2a+1, +\infty) \neq \emptyset \rightsquigarrow a+4 < 2a+1 \rightsquigarrow 3 < a \Rightarrow [3, +\infty)$

الف) $\left\lfloor \frac{100}{3} \right\rfloor = 33$ ب) $\left\lfloor \frac{100}{5} \right\rfloor = 20$
 $\left\lfloor \frac{100}{15} \right\rfloor = 6$ ۳۳ + ۲۰ - ۴ = ۴۹